MAYH3RDGRADEWARM145PMR-Alfredo Alvarcz hitps://xlitemprod.pearsoncmg.com/api/v | /print/math
; O377 @3¢~

e
iStudent: - Instructor: Alfredo Alvarez Assignmen-t: "//f
iDate:_ Course: Math 0410 / 0320 Alvarez MATH3RDGRADEWARM 145PMR ,///
1. Determine the place value of the digit 7 in the whole number 5376. } T 3 ‘7 C

Choose the correct answer below.

(O hundreds T
(O thousands 7?“ S
() ones

O tens

Answer: tens

2, Write the whole number in expanded form.

9240 C/'(/ogo)—/-Z(/Uu) —~+ ¥/ =

9240= (Type your answer using plus signs.)

Answer: 9000 + 200 + 40

- e
3.
The table shows the number of calories burned during 30 Activity 12016 1401b
minutes of exercise and how the number of calories burned Moderate jogging 342 3499
varies according to the weight of the person doing the Moderate walking 120 140

exercise. For a person weighing 140 pounds, how many

calories will be burned during 30 minutes of aerabic dance? Moderate cycling 148 172

(Aerobic dance 218 255 B

Racquetball 224 262 S
255

Tennis 167 195
] calories yary

Answer; 255
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varies according to the weight of the person doing the Moderate walking 100 140
exercise. For a person weighing 140 pounds, which activity Moderate cycling 127 178
ies?
burns the most calories? Aerobic dance 176 248
Racquetbail 195 273
Tennis 138 193
Choose the correct answer below
O A. Racquetball
(O B. Moderate cycling
(O €. Moderate walking
() D. Tennis
(O E. Moderate jogging
(O F.  Aerobic dance
Answer: E. Moderate jogging
The table shows the five longest rivers in the world. River Miles
- hang jiang-Yangtze (China) 3964
Use the table to determine which river is @@the mazon (Brazil) 4000
world. ) _--*”'/ enisei-Angara (Russia) 3442
Mississippi-Missouri (U.S.) 3740

Nile {(Egypt)

( 4145

A1

Which river is the longest in the world?

Nile

Amazon
Tenisei-Angara
Mississippi-Missouri

Q0000

Chang jiang-Yangtze

Answer: Nile

\

-
Lon )5 es ~

Friover

3/20/2019, 12:29 PM



MATH3RDGRADEWARM 145PMR-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1 /print/math

The table shows the top ten popular breeds of dogs. Use the Top Ten Popular Breeds of Dogs
table to answer the following question. Average
Dog Average Dog
Which breed has a greater average weight, the Breed Maximum | Maximum
(Golden retriever or the abrador retriever? > Height | 'Neight
o o e sz {in inches) i)
. e
Labrador —
The (1) ——_____ has a greater average weight. retriever 25 C75 /%fﬁ-—ﬂ
German
_ishepherd % el
Golden = 3 W
(‘retrigyeL 24 C DO [ 9r eater
Beagle 15 30 e
Bulldog 26 90 av: )(;
Yorkshire Lrtts (4—
. 9 7
terrier
Boxer 25 70
Poodle standard: 26| standard: 70
Rottweiler 26 none given
Dachshund 9 25
(1) O Labrador retriever
) Golden retriever
Answer: (1) Golden retriever
_-_-_-_‘_‘_‘_‘—-—_
h-"-ﬂ_'_'_-_-_-_-_-_-_-_-_ e
7. Add. /G
16 -(_ C? 7 3
16
+973
Answer: 989
e —— - P ____\-__-_F_‘_‘—-T_\_\_ :
8. Add. /¥
)
14
. + ¢/

+ 41

The sum is ;

Answer: 68

of 41 T 3202019, 1229 PM
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9. Subtract.
63 - Cf/]
= 47 e T —
The difference is : @
Answer: 16
b9 /2 - —
10. Subtract. 7@
700 ~S3Y
- 584 /,6__ g
The difference is l ! '
Answer: 116
e — __b__.;‘._fr;. —— —— ——
11. Subtract, Check by adding. L 7 )/
473
- 69 ;éi-— :
The difference is | ’
Answer: 404
— e ———
e I — *‘.-

12. Subtract.

25-16

The answer is [:,

Answer: 9

e =

13. Find the perimeter of the figure.

The perimeter is |:’ feet,

Answer. 28

11 feet

C
P A+E -+ <
/: 719 ~+ 1

Pl

=2

—

ufdl\

31202019, 12:29 PM
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Find the perimeter of the figure. -
pert e : Rectangle I foot /_Z(Z) PFZ(.( )
} i 2 feet / - ¢rz
Answer: 6 @
— e =%} 3 : - —_—
s PoAMRBAC+DF e~
Find the perimeter of the figure. P=IlT1+7+ 7 1y 1T + {7
D
_.__Icm 18 centimeters e @
C 7 centimeters 12 centimelers
8 centimeters
A 17 centimeters 17 centimeters
Answer: 79
———— g ) = i et Mo i o
16. Find the total of 89, 29, 3, 17, and 275. 59
24
The total isl . 2
[ 77
Answer: 413 + 275 ——
. : ’H/_,_‘-'-""'_'_'_
= ——— Al = 17
17. Find the difference of 92 and 77. q .
The difference is :] -7 7
Answer: 15 @
. e —— e —————— e e
B 1 é What is 365 increased by 807 3 6 5_
Q
365 increased by 80 is |:] jéj
Answer: 445 CIL

o '19._ A new notebook computer with DVD player costs $510. Derik Muller has $1107 in his checking account. How much will
be left in his checking account after he buys the notebook computer?

Derik will have $| l remaining in his checking account after he bug,}s the notebook computer.
/G 7

Answer: 597 - 5- / @

N - E !

of4l _ e 32012049, 1229 PM__
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20. Find the total land area drained by the C and D sub-basins. Fl River Basin
G
/ E 9 S 3 Mss0.000
+ 779YY :
0o : .
g 246.000
@) 3 189.000 ¥ 62 000

é H
& apemm

| sqmi

Answer: 266,000

— e ———— T I — EEST.

21. How many more square miles of land is drained by the A
sub-basin than the B sub-basin? {‘70 0 U

7E...
2 00590.000
— 24F I : (W |/
3 2 248.000
E 184,000 162 '000
5 I_' 74.000 10,000
: oo Cv 5 T E
< E
sqQ mi
Answer: 342,000
_—-—'—'_'_—._._ _-—_—_—‘__'——.___
" Alexander is installing a pen for his dog. The pen will have 135 meters
the shape and dimensions of the figure shown to the right. B D

How many meters of fencing are needed to enclose the the

area shown? P’: A ’f @/f c ’fD 97 meters 149 meters
P=TI+T)t (354 lug

. im @ ) A e

Answer: 452

e

23. Evelyn Abrams is reading an 845-page book. If she has just finished reading page 693, how many more pages must she

read to finish the book? '/f {/ 'S
! pages — 69 3
..--""'"-._H_'_'_._._'_.
| 52
Answer: 152
—

iof 4] 3/20/2019.12:29 PM
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24, What is the dB rating for live rock music?

120
100
80
60
40
20+
-k

Docibals {dB)

Toa
éeabe’b

dB

Answer: 102

—

Decibel Levels for Common Sounds

36

71

28
10

=[]

Loud

Leaves MNormal ive Rodk
Rustling Conversalign Muysic EnoringTelevision

25. How much louder is the sound of snoring than
normal conversation?

Decibel Levels for Comyn Sounds

g 120 101
Y ? = 100 89
3 80 71
3 60
— 32 3
e 40 327
, 204 13
5’[ ==
o~
Leaves /Nommal iLiue Rock Loud
Rustling Convematich Music SnoringTelevision

s

!

Answer: 57
— ; Iy
26. A permanent game board is made of granite. It is in the shape Of@ith side lengths of 34 ft. Find the perimeter of
the square playing board. 3 P — Lf ;f B
imeteris | ] 4l E_cc\3 ’ . A4
The perimeter is feet. /0 =¥ /A q) ¢
3¥ e {3
Answer: 136 F /3¢
27.
The table on the right shows the number of a particular State Number of Stores
store in ten states. What is the total number of stores Arizona 27
located in the three states with the most stores? California 63
Florida B2 Cl [
A total of stores are located in the three Georgia ol — 17, .
states with the most stores. lllinois C 144 O / ‘fy
New York 48 l ? }
Michigan 193 ) ‘i
Minnesota 29 /\’
Ohio 76 [{ P 3
Texas 58
Answer: 428
ofdboo T T _3/20/2019, 12:29 PM
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28. A particular state has 2059 miles of urban highways and 3838 miles of rural highways. Find the total highway mileage in

the state.

The total highway mileage in the state is I I miles.

Answer: 5897

Z o 51
+ 3738

Cj7'

il e

29. Round 8,768 to thew

The number 9,768 rounded to the nearest hundred is :

Answer: 9,800

30. Round 55,227 to the nearest thousand.

55,227 rounded to the nearest thousand is

Answer: 55,000

{
<D

e ———
L.

31. Estlmate the perimeter of the rectangle by first

57 meters C:

qoundm_g‘_:bet[éngth of each side to the nearest : W/
ten. Rectangle 17 meters —» (2
z 2l
The estimated perimeter is meters. = 2060) 2(20)
P (2oty=
Answer: 160 - G <
. = /655,
32, 76
Multiply. 76 b4 9
— _x 3 ==
i s I 6t
Answer: 684
33, Multiply. G/
s
67 )( L 7
x 75 — %535
G (9 3
The productis! . go YA
Answer: 5025

of 4]
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34,
Find the area and the perimeter of the rectangle shown to the right.

The area of the rectangle is | [ ) )

The perimeter of the rectangle is @)

5 meters

(1) O cubic meters.
) meters,
() square meters.

{2) O cubic meters.
) meters.
() square meters.

Answers 15

{1) square meters.

16
{2) meters.
35. One triple fudge brownie contains 171 calories. How many calories are in 10 triple fudge brownies? l 7 (
1. - LY [ O
calories T - M o QU
ma«/(f(’
() 2 (700p) CusS o
Answer: 1710 \
e ——— —_- —_— s .____—-1'_ e
36. The textbook for a course in biology costs $97. There are 36 students in the class. Find the total cost of the biology books
for the class. i 97
y Y V4
The total cost is $ 77 o (Z C ) 7&—}—&-
1(ar) = 77 2 cYy 2
Answer: 3,492 i - 3 \f C" L\) _____C,i__l.———-
— - —— — e Q— ml —
37. A plot of land measures 90 feet by 130 feet. Find its area, - z
L /. A’ iy /7o
The area of the rectangle is| (1) /4 = (/ 5.9) ( 7 7&-25%—
- o
{1) O cubic feet. ( 0
O square feet. %
) feet. \ 1}7
Answers 11,700
(1) square feet.

of 41
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38. One ounce of nuts contains 215 calories. How many calories are in 9 ounces of nuts? 2] 5

G
:calories 2_/6, = 7 ?(/:;'_
((a)= 205(7F) ] 72

Antwort: 1935 @-- —-—@‘:\

e —

39. A plant for a tea company has bagging machines capable of bagging 3000 bags of tea per minute. If the plant runs 19

hours a day, how many tea bags are produced in one day?
A= (Booo) (k)
The company produces tea bags in one day of operation. )
— =(2009) (1) 60)

Answer: 3,420,000 s ) Oy
3975605
g _-(;’::::"—‘E:t S
- T e i i Gz 7 .
40Q. Divide the following and then check by multiplying. _S_ fézi@,z
5320
—(3v)
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 20
O A. The quotient does not have a remainder, The quotient is r-—(‘ZU
O B. The quotient has a remainder not equal to 0. The quotient is _ R
(O €. The quotient is undefined.
Answer: A. The quotient does not have a remainder. The quotient is 64 I - ——

g

41. Divide the following and then check by multiplying.

3)269

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A, The quotient does not have a remainder. The quotient is . -~ Z,'()
O B. The quotient has a remainder not equal to 0. The quotient is R 2

(O C. The quotient is undefined.

Answer: B. The quotient has a remainder not equal to 0. The quotient is 89 R 2 ]

o

42. For their wedding, Ben and Jen paid $11 for each guest's dinner. The total bill was $1606. How, many Eyests did they

. . {
have at their wedding? 7 G J,P—j——
ALE g NWJ/goe

‘:guests [ - ~ /T )

Answer: 146 m — (‘r
\_____________:—""/ o G
~6</)
0 r4v
0 of 41 e 3/20/2019, 12;29 PAL—
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43. A truck hauls wheat to a storage granary. It carries a total of 6,370 bushels of wheat in 14 trrps How mugh does the truck )
haul each trip if each trip it hauls the same amount? G 3 7 > 4

The truck hauls | bushels each trip. /¥ 663 7=
— (5 _)_
77

Answer: 455 = ﬂ_i)

— 70
T
44, Suppose the elevation of a peak on a certain planet is 21,120 feet. A mile is 5280 feet. How many m}iles peak?

‘ yd
The peak is ! miles tall, __%_‘__!_Z’_d.,_ = 2407 2’( (2
§Z7do 2.112.°
Answer: 4 9{ _ /l_a’ N
= Shr— : - N — === - — ——
45. Find the average value of the following list of numbers, SOF/ T 2(€L<+2)
10, 24, 27, 25, 11, 17 G Y
The average value is . /< G &
— AL A
s
Answer: 19

— (50)

= = = LA = Ay = W _/_\\o_mq_\
46. Evaluate, 3 32

Answer: 27 m ?ﬁ

_.-'-_-__-—"‘-_-.r-_'_._.-_ - __._— _—— _-_-_‘_\_‘_‘—h._

47. Simplify. / é//v\ 4 s 277G 7=
27+9-7 27’_,Q 6‘3_4_

Select the correct choice below and, if necessary, fill in the answer box to complete your chmceo
() A, 27+9-7= @

() B. The expression is undefined.

Answer; A, 27+9-'r'= \

I of 4] 3/20/2019, 12:29 PM
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48, Simplify.

42+7-6

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. é 6

A, 42+7-6=

0 B. The expression is undefined.

Answer. A, 42+7-6= 0

49. Simplify. S
15 SO’{' o
50+?

_f() ——f 5 s
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
Ty

15
O A, 50+T=

() B. The expression is undefined.

15
Answer: A, 50 + ? =I 55

50. Simplify. g{m 5 e b7 —f Ge 7 -
8:8+6+7 GY—+ 6o/ =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

42 -
O A. 8-8B+6°7= 24 2y

() B. The expression is undefined. "'__t.__(-f--z—-

Answer: A, 8-8+6+7= 106

—— — B
51. Simplify.
(2+5)+(10-4)
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
‘ —
O A. (2+5)+(10-4)=
(O B. The expression is undefined.
Answer: A (2+5)+(10-4)= 42
R

2of4] 3/20/2019, 12:29 PM
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52. Find tlta:ea ancte_r@:f the sc@shown to the right. L\)

q' 9 melers

The area of the square is 1 My L

The perimeter of the square is! { 2y 000 | A - L i~
— o
(1) O square meters, (2) O meters. A _ (ﬁ?_@ )
) meters. () sguare meters. @D

Answers 81 /ﬂ - 2(~+2 n/
(1) square meters. V_‘ Z(CD"'FZ /ﬁ)

36
(2) meters. /jfg’f- / f P i
53. Evaluate the expression for x=2 and z =3, 3 X o — Q;)( = == QP & D A;a
Inz - 4x (&)( 3) . 9‘(&) -
Ixz-4x=[ | 3(6 ) .__(f(?_) o~

—
Answer: 10 /
i = = s e .
54. Evaluate the expression for x=3 and y =4. 6 ) PC P 4>
Jy-6

" 3 — 5
e ) @
/2~ G
Answer: 2 3

55. Evaluate the expression forx=11,y=3,andz=4, M 2 o

X+ 3y —

: 3) =
X+ 3y ‘|)+3 j”__‘

<N — (éf)

. ( ¢

130f41 3/20/2019, 12:29 PM
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| X =73 x—-~ X 04

=
L ;
(%) "=3(%) 5 =
When x=4, x° - 3x+5= : '{%)/V) “‘3(?5)7’—) 3
{Simplify your answer.) / 6 — /] 2 5 e
. 3=
Answer: 9
- T Gl ioks RS ey
57. Evaluate the following expression for x=1andy =2, 6{_{— 2 Z - L—Q ) @

56. Evaluate the algebraic expression for the given value.

x2—3x+5. forx=4

6x + 2y Z X )\
2
) G(H+2() _ ——
The answer is L 7 ( B — _S <
Answer: 5 © —Y -
o . =7 - o
R — P _..__—--1I- ) —_—
58. Determine which numbers in the set are salutions of the equation. lll /7 - _S’:’- /< F
n=-5=12; {15, 17, 19} }’5’~5”:/ T |
Select the correct choice below and, if necessary, fill in the answer box to complete your 4hoice. /O q? f 'l A/\ﬂ
-l|" o - =
O A. in the set {15, 17, 19} is a solution of the equationn-5=12. f /7'—5 - / L /7") s
() B. None of the numbers in the set are solutions of the equation ‘7“" s/ / G5~ =/ ]
[2</2 S Ea
Answer: A, 17 in the set {15, 17, 18} is a solution of the equation n-§=12. - S f
%g /I/L) |
—.---—"“'"'_'-'-‘—-—»__,__.__‘_ i \
e . = —n. — -ll— ol '.I
59. Simplify. G+ Ge 2 —1] = —_—
6+9-3-11 6'4‘ L7 —I| ¢
R — 33—~/ =
Answer; 22
60. Solve. Check your solution, )( 3 é — Z 3 c;«(}l‘){’z(q ;
- r6=23
s sai ) YRR
The solution is x = . X" / 7
R - 237273
nswer:
T _ . _ Ged
e e _'-"-———-a______________“"___-_

14 of 41 3/20/2019, 12:29 PM
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61. Soive. ¢

2= 4 2x- < Y
The solution is x = . =it (% o g/

| =l )
Answer: 2 /( O_O 0 O{

-—H.-_..,_.__‘__'._!,__ = o ————

62. Solve the following equation. Z )(’__ 7= O . Z)(C L{/{ /C - e

. 2A—FF 0T L 2(D=L=

- 2X = L ‘iI’ 2-220
Answer: 1 ;_7_4_ — é O O G_OUC/(

Cha e Ty

63. Solve the equation. S —+s0< 59 N $A1—F U 5
- = —‘—:S_

-5n+50=55 §)— H=EV T '3’3"‘___%7) T(0)+5—= 53
I TS B 5~SD= £
) - 5 /] “/

e

Answer: 1 ,—5;_‘— s r Sa--s-—:____ _SFgF ﬁu ﬂ(

64. Write a fraction to represent the shaded region of the figure.

il
A fraction which represents the figure i s
Answer: 2
7

o BT ™

50f4] 3/20/2019, 12:29 PM
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65. Represent the shaded part of the group of circles with 7 J /

A, an improper fraction and ——
B. a mixed number. (74

A. The improper fraction which represents the shaded area of the figure group is
B. The mixed number which represents the shaded area of the figure group is |

Answers 7
4

66. Represent the shaded part of the group of triangles with
A. an improper fraction and
B. a mixed number.

V' Vi Vv

A. The improper fraction that represents the shaded area of the figure group is

B. The mixed number that represents the shaded area of the figure group is

Answers 5
4
1

17 e

i [

67. Write a fraction to represent the shaded region of the figure,

The fraction which represents the shaded region is { .

Answer: 5
12

6 of 41 342002019, 12:29 PM
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68. Write a fraction to represent the shaded part of the figure.

%

The fraction representing the shaded part is |

Answer: 7
8

¥

69.

_-_____-___-_-_-_‘—l—.

Write a fraction to represent the shaded region of the figure.  The fraction that represents the shaded region of this figure

Answer: 5
9
I"-"‘--—-.._

1S

70. Represent the shaded part of the group of figures with (a) an
improper fraction and (b) a mixed number.

{a) Write the shaded area as an improper fraction.

[

(b) Write the shaded area as a mixed number.

|

Answers 7
4
; 3
4
_._._._'_.__..._—-— =

17o0f4]

3/20/2019, 12:29 PM
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71. Represent the shaded part of the group of figures with (a) an
improper fraction and {(b) a mixed number.

a, Write the shaded area as an improper fraction.

b. Write the shaded area as a mixed number, fi 7

— —(6)

Answers 7

p——

72, Write a friztion to ;gpresent the shaded part of the syringe.

7y ;
AN
s —— SR =
The fraction represented by the shaded parts is . i
Lz 3 g/ 8
- —— — ——
Answer. 5 ? ér ? ‘?
8 n‘L_i LA N

——

73. Write a fraction to represent the shaded part of the distance.

g 1wlwolgm!leg_l .
- ? P LE7Y %

The fraction that represents the shaded part isf )

Answer: 1
8

Bof4l 3120:2019, 12:29 PM
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74,
Each of the objects shown {o the right is divided into equal Choose the correct answer below.

sections and part of each object is shaded. The shaded part

is a fraction of the whole object. ) A.
Which object ts the fracti 2y = - — -/
ich object represents the fraction 7 CZ‘B—/ \\
QOec.
O D.

() E. None of the above.

75.
Each of the objects shown to the right is divided into equal Choose the correct answer below.

sections and part of each object is shaded. The shaded part

is a fraction of the whole object. B o
A o

2
Which object represents the fraction E?

OE ’]
None of the above. <

Answer: l e

19 of 41 3/20/2019, 12:29 PM
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76. /
Each of the figures shown to the right is divided into equal Choose the correct answer below.
sections, and part of each figure is shaded. The shaded part e :E
is a fraction of the whole figure, A, [ET
=] A [ |[ 1 [a%]
I

EHREREEN

8
Which figure represents the fraction E?

~" A

() E. None of the above,

e T

A.

T ——

77. In an American Sign Language (A.S.L) class of 16 students, 15 are hearing impaired. What fraction of the students are

hearing impaired?
g‘ ) N
The fraction of the students that are hearing impaired is ] ’_____{___._ J

Answer: 15 / 6

16

78. Graph the fraction on a nurnber line. @

3:20/2019, 12:29 PM
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80. Graph the fraction on a number line.

7

5 i 2 3
S~ s 5

] é n L 1] -E -
2.
)57" g
Answer:
-t + t + =

0 2

81. Find the prime factorization of the following number, /// s V Y, § 9 7 [ (/ / 3
2

* LA
The prime factorization of 56 is =i 2 (27 $6 e A D
y

Answer: 23 , 7 7 {_

82, Find the prime factorization of the following number. /?’f"t e Z/ (S 7/ /r/ /5. =a
v

185

The prime factorization of 195 is |

Answer: 3+5-13

83.
Write the fraction in lowest terms.

72 -
;'sf

42
= - /

z S
Answer: 7
- 7 - ;f«
Lo¥Ye3.

—- ,

84. Perform the indicated operation.

4+—

13

4+ —= ] (Simplify your answer.}

Answer. 52

7
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3 . 15 Primst &5,57 0015,

85. Perform the indicated operation.

f{_ o 33
EIC 5 33 3(32
1133 2 e == -
/) /3
3 13 . - - .
?T-e--:i—i:‘ (Type an integer or a simplified fr;ctlon.) 3 . /{/{/ .
—_— -
Answer. 9 /f /5‘
13 2.3
) -
86.
Find-;-onzo. -~ ( / “
/Z.o —
3 of 120 isl . (Simplify your answer. Type a whole number, fraction, or mixed number.) 4 9/
[(zu — Sl 2o
Answer: 24 f ,@—L—
— | Qs %
B 637 9 12
87. — .
! Find%oMB. Write the answer in simplest form, % (?p —_ Ll }/r/ Z/I//}' o
s ¢ = WD Uds
3 —
g of4Bis . (Simplify your answer.) J / w ?_éZ:t/
- BN N V. A S NN N (S ks
Answer: 18 /7‘/‘%/2 / f 2&
[ se2s= FFY 6
88. Insert <, >, or = between the pair of numb orm-airde-statement: '11
5398 54 <7, 3 ? X < S. “ g O [ Chrrle
5.398 54
Answer: <

89. Write <, >, or = hetween the pair of numbers to form a true state %
0.338  0.33800 O 33500 Do 53 70Q

0.338] 0.33800 .
V€ wride

Answer; =

of4] 3/20:2019, 12:29 PM
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90. Round the decimal to the nearest tenth, a’ 6 X =
0.68 /\ /g 3 é - \

rouw{ «n /ﬂ o
0.68 rounded to the nearest tenth is I o i :

Answer: 0.7
o1, 0. 6076
Round 0.6076 to the nearest thousandth.

0.6076 = S vy

675
Answer: 0.608 0 ¢ 6@ row wpy

e

Sy 3<f
do At VoA wg?

92, Round the monetary amount to the nearest dollar. Z,nf" 3 6

$28.36

$28.36 rounded to the nearest dollaris 3

Answer: 28

Py U 5
93. Write as a decimal.

3 7 JOO  — /ourio\

9— ~ - — )
100 —_—
C? + o T 0
Ti00 ” G102~
Answer: 9.03 C? . d 3 f
- _m'-‘—_’_______ﬂ_________._,_
94. Add the following. 2 ¢ F O
24+6.15 "{_ 6 - /S-— .
24+6.16= (Type an integer or a decimal.) f 5 Q
Answer: 8.55

_.F_________,._.-—---‘-—-"‘—'_'__—’_'_'_‘—"—-*--.

95. Subtract and check the following. / 27;/0/
15-1.3 - / CJ 3

15-13= ! (Type an integer or a decimal.) 3 7
[

Answer; 13.7

23 of4i 3/20/2019, [ I: ;
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96. A landscape architect is planning a border fora — e————— 23.22 ft¢{ ———>» / - A ’Ké '74 —

flower garden shaped like a triangle. The sides \ //9 _
S /554U T

of the garden measure 15.5 feet, 23.22 feet,
and 22.7 feet. Find the amount of border 15.5 feet 327 feet

material needed. . ’ / < },_0
A \/C(p Gl.¥ ) et 9

The amount of border material needed is feet. ~ 2. 72

(Type an integer or a decimal.) (9 ‘ ¢ 2 ,:»
: , .
Answer: 61.42
97.
The bar graph shows the top five chocolate-consuming .
nations in the world. Use this graph to answer the following. Th%g\ﬂ,ﬁn?%gmﬁﬂ: ter

Which country has the greatest chocolate consumption per
person?

26.24

Choose the correct answer belo

CCountryE o,

) Country A
() Country C
O CountryD
() CountryB

Pounds of Chocolale per Peison per Year

Answer: Country E

e e

98. Use the values of the coins given below. Write the value of the group of coins TRy AT

ﬁ‘h. ’ Aq""l’",% fa,“f};,\
shown to the right. To do so, it is usually easiest to start with the coin(s) of a V[ s - < iy
greatest value and end with the coin(s) of least ¥alue. 0% @ E @

: (@) . T i =
Penny Nickel Dime Quarter ¢ Z,r ’ . - . n
~ e o : :
- JEE x3 XX o9 )
. o2

@& o

001  $0.05 S0.10 3025

The total value of the group is $

Answer: 1.45

o T

24 of 41 3/20/2019, 12:29 PM



MATH3RDGRABEWARMI45PMR-ATlredo Alvarez hittps://xlitemprod.pearsoncmy.com/api/v1/print/math

99. Use the values of the cains given to the right. Name the different ways that Penny Nickel Dime Quarler
coins ¢an have a value of $0.18 given that you may use no more than 10 J'ﬂi

coins. @ L{ O @;

$o0r 3005 S0.010 3025

Choose the correct answer below. Select all that apply.

%}4 nickels and 3 pennies _ _' &<

([%B. 2 nickels and 8 pennies ‘\f—'

I‘-\.

1 .dime, 1 nickel and 3 pennles . ok

[I D 3 nickels and 5 pennies
[JE. 1dime,2 nlckels and 4 pennles

¢ [ﬁlF‘ 1 dime and 8 pennle_s’/ =

Answer: A. 3 nickels and 3 pennies, B. 2 nickels and 8 pennies, C. 1 dime, 1 nickel and 3 pennies, F.
1 dime and 8 pennies

100. < D
Find the circumference of the circle in terms of n. Then use
the approximation 3.14 for x and approximate the C T i ( 3 /)

circumference. '

. Find the ci fi f the circle i f .
a. Find the circumference of the circle in terms of &t C - 3,/ L’;(j / )
The exact circumference is |t = P
p—— (<1037
b. Find the circumference of the circle using 3.14 as an approximation for x. e Gy ~—~5 / Y
¥
The approximate circumference is ft. (Round to the nearest hundredth as needed.) ~ 31
31
Answers 311 [
,_‘P_

101. A 1-ounce serving of cream cheese contains 7.9 grams of saturated fat. How much saturated fat is in 15 ounces of cream

cheese? ’L - g‘ 7. ?—
— A < [ S~
() 7,f/,,) e
L
) e -

102. The screen of a portable digital device is a rectangle that measures 3.5 inches by 2.6 inches. Find the area of the screen.

5"

Answer: 118.5

Answer: 9.1

,-"'_-_

The area is square inches. {Type an integer or a decimal.) A “/ X 2%
C 9% /56) ~Z(0
Val /4’ 7. I/ . _cf__l_(}

o

70
15 ol " 3/20/2019, 12:29 PM
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103. A meter is a unit of length approximately equal to 39.37 inches. If someone is 1.61 meters tall, what is his or her
approximate height in inches?

Using the given conversion, someone who is 1.61 meters tall has a height of inches.

(Type an integer or a decimal.} 3’_7'_’37 -~ '£:(7 A= T 75
Answer: 63.3857 I(A/) -~ 34,37 (/ 6’() Crnos s maAH

. £ T T e eeee————— —— e -—

104. One year, farmers received an average of $13.165 per bushel of wheat. How much did a farmer receive for selling 100

bushels of wheat? / 2, /'6 I
The farmer received $ . {Round to the nearest cent as needed.) 7o
e ¢ ¢
ddoove
Answer: 1316.50 [ ¢ 5

105. Perform the indicated operation.

5.8+0.01

58+0.01= (Type an integer or a decimal.)

Answer: 5.81

106. Find the decimal equivalent of the following fraction.
1
20

1"

I

Answer: 0.55

107. 3 . / _1
Wite 23-6 as a decimal, 2 o
3

-2
o S — (20 )
2+ /5% [ ¢

Answer: 2,15

[ e—
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108. The pictograph shows last year's fruit praduction by
the top fruit-producing regions, Which region
produced the greatest quantity of fruit?

Mountain Region__~

Annual Fruit Production in Top Producing Regions |
1399293 aaaR; [P

Southern Region
Coastal Region

Lake Region

¥ = 23 million bushels

]
H
Nerthern Region J
']
|

Central Region

Which region produced the greatest quantity of fruit?

{J A. The coastal region
() €. The southern region
(O E. The lake region

Answer: B. The mountain region

(O B. The mountain region
(O D. The central region
() F. The northern region

109. The pictograph on the right shows the number of acres

devoted to wheat production in the selected states,

Approximate the number of acres of wheat planted in
state H.

The number of acres of wheat planted in state H is approximately million acres.
(Type an integer or 2 decimal.)

Answer: 4

Annual wheat Acreage in Selected Top States
slach'!'f",‘
sialc B f ¥ & 5 |

{

|
|

L I |
state C t 1
state D

state &

- ey

state F

. e e e e e
i B R ]

state G
=2 mllllon acres

— - __\_\ 1 |

o (am Wk -@k AR W ek

17 of 41
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110. The pictogra'ph shows last year's fruit production by Annual Fruit Production in Top Producing Regions )-g }
the top fruit-producing regions. Which region el - . _Zq L
produces about 85 million bushels of fruit? &ntrgl_ﬁgmn_____%/ !

Southern Region rFEEFE
Lake Region idad I
Mountain Region 194 D S Y
Northern Region d d=10 aillion bushels | |/
| Coastal Region ) . :
o
Choose the correct answer below. (37 ,( ) ( { d) -
Z_
(O A. The coastal region _El_B'_The southern reg_i?:\ ( Z ) 5,) (/o) - g -
O €. The mountain region ¢ (=¥D. The central region” e '
(O E. The northern region (0 F.  The lake region : Z j.:;\\ X VAAY)
o
Answer: D. The ceniral region
—_—— ——— o =
111, The pictograph on the right shows the average number of 2006 &

& &
/?lm;ate the number of wildfires 200!‘ii g i
L 2009 (\, 1"'}

&y
& &
& &

wildfires in a country between 2006 and 2012,

iij}
ﬁ

2010

FEFFFHHE
FEFFF S
FEFFFEFHE
TeFFFHEHE

2011 i
2012 I (8
"""" - {3u0p
The number of wildfires in the year 2007 is approximately I . 7/‘/ < 2
{Type an integer or a decimal.) (2 ) =
/(13w G { 900
Answer: 91,000 :
’ 00 -
S el /O
112. The pictograph shows the annual number of wildfires in a region Wildfires in a Region 1 =
between 200 at was the amount of increase in 2000 ANMANANMNAMNANL
wildfires frafn 2004 to 20057, 2000 AANMNAJ
2002 ANNMANNANI
203 AXAAAAMN ¢
—— 004 .&AAA.&,.L
Iﬂ.OOOﬁres.]_ o W W A&&&J qék
: " L
The number of wildfires in the region increased by about i from 2004 to 2006. ﬁ' /{_
— €6 4
Answer: 30,000 /0 OV /6,.f>
o R LTI, SO oy R
- T 30,000 B
e
_-_-_‘_-_‘_-_-_-_‘_'_‘-—

8of4]
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113. The bar graph shows the number of major storms, by month, that Major Storms Making Landfall
have made landfall in a region between 1851 and 2005. In which
month did the most major storms make landfall in the region?

In which month did the most major storms make landfall in the region?

{} September T Jul
) June (57 August
) October (3 Cannot be determined

Answer: August

i et _-_‘_'_'_‘—'—-—-—._________‘_‘_

114,

The circle graph is a result of surveying 700 college
students. They were asked where they live while attending
college. Use this graph to find where most of these college
students live.

r'_. Parent or i —
[l Off-campus rental 119
[0 Campus housing 150
O Other arrangements 17

Hl Own off-campus housing 64

Choose the correct answer below.

A. Parent or guardian's hom:\
OB er arr;
(O €. Own offi-campus housing
(O D. Off-campus rental
(O E. Campus housing

Answer: A, Parent or guardian's home

Find the square root. |64 =]
J5d

115,

\

19 0f 41 32012019, 12:29 PM
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116. A Afrn=c

Find the length of the third side of the right triangle, . L T C 1
a (7
c 8 3¢+ 6¥= ¢t
Joo=ct
The length of the third side is . Woea = ﬁ-“-
Answer: 10

B e e e m—

117.  Sketch the right triangle and find the length of the side not given. If necessary, approximate the length to the nearest

thousandth. e ¢ A 1_{ lg% L
leg = 16, leg = 12 z
°g=15. % (/c,)z—;‘(lt)i: ¢t

What is the length of the side not given? P
O=iv )56 s =
l {Round to the nearest thousandth as needed.)

Vo= ¢ L
Answer: 20 F
| Vo = = y/ce
118. Sketch the right triangle and find the length of the side not given. A, ’L—l‘ }3 C L
leg = 12, hypotenuse = 37 /L m_m (/ z
Vepl= @y
The unknown length |s 2 _
(Type an integer or decimal rounded to the nearest thousandth as needed) / 5”71‘7‘ 6 / '2 6 ?

Answer: 35

e

119. Find the ratio of the corresponding
sides of the given similar triangles.

o
3¢
-
/o
The ratio of the corresponding sides of the first triangle to the second triangle is | ? ( T -
(Type the ratio as a simplified fraction.) -
(L)
Answer; 7
2
n..._._______-_-—-_

\x
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120. Atriangle is formed by the building's height

i -
and shadow. Another triangle is formed by fiib, . - S/
the flagpole's height and shadow. Using the { \\ 20 C v 55
following diagram, find the height of the I \ C _ m
building. £ [ — )
1 V(¢)=
5 ANEITIR
ﬂ 5‘:9, \ )
20 ft 41t
The height of the building is feet,
Answer: 200 (

121.

Draw a tree diagram for choosing a vowel, (a, e, i, 0, u) and then a number (1 or 2). Use the diagram to find the number
of possible outcomes.

O A. 1 OB a Oc. 1 O D. a

a<‘ 1 : n<3 e

- { S~ 1 '.] i

1 u 1 i O

- <_’ /: e<3 { -

1 & 3 \ a

1 / u 1 Y IS

i<., } " i<" \2<1

- ] :.‘ o

1 \.3 {-f 1 u
0\2 3 0<2
! Lo .
u<2 -l:g(:] “<2
u 4

il of4l
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nups:a!xluemme

122,
Draw a {ree diagram for spinning Spinner g 2 timgs. Use Choose the correct tree diagram below.
the diagram to find the number of possible omes.

A 0 B.

Spinner A R R
B B

Y Y

R R

B B y—gl B

Y S~y

R R

B B

¥ ~v

{ :_F]
)

Based on the tree, what is the number of possible
outcomes?

N\
-</mx -c/t!a\w <o

R
Answers R B

@(/3<
0K

123. A marble is selected at random from a jar containing 3 red marbles, 6 yellow marbles, and 4 green marbles,

w
o

What is the probability that the marble is red?

The probability that the marble isredis| |, (Type an integer or a simpiified fraction.)

Answer: 3

w red )
“-"'",;;;(7 Jellivw~ Grecs
>

5

36TV

™y

'n———'-'——""'_""-_"“-_
320f 41 10
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124. Find the perimeter of the following figure. / 2 C —-(4 2 I2V4
“2(10) + 2(7)

/ﬂ
\/J 71 Rectangle / v
/ﬂ«—ix;g\

12t
Lo e
Perimeter =
(1) O
) sq.ft
Answers 38
(1)t

R

125. Find the perimeter of the following figure. /7 - l L_[; 2 L/t/

ﬁra]lelogra%3 em /: Z (%3 ) 7‘ 2(3 3/ /

43 ¢m

Perimeter = | (1)

(Y O em
) sg.cm

Answers 152

(1) em

3iof4l1 3/20/2019, 12:29 PM
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126. Find the perimeter of the following figure. o — /97‘
g [ f o
. pz o~ 2w 2y

<:: 7z 66

The perimeter is 4} EE—
(1 O sq.in.
O in.
Answers 66
(f)in. s
——— o o ﬂ)_ S
127. Find the perimeter of the figure shown to the right. : C

16 i 140

A 131 41 _D

Perimeter=/ | (1).—: /f/g%ﬁ‘f’(-fp-{-g 6

(1) 8 st /: [3F/6+/Y+/Y+ 2 )
P XA TEAFrry )

Answers 78 % - 4& 3 __,L/ ﬁ(_,; Z /
1) ft. B
— Fe 72 CPETY D
128. Find the perimeter of the@on shown to the right. 76 & —— =l

/ 6 16 vd
_ J
Perimeter=:] (1 /ﬂ:— é,/‘/ [ ’ /G
(1) O sqyd I/:_f_(/() i—j-
O yd y d
Answers 80
{1) yd

34 of 41 3/20:2019, 12:29 PM
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129. If a playing field is 56 yards wide and 115 yards iong, what is the perimeter?

56vd

113 yd (/

=2L+2 T
/220 1is)+ 2( ¢e) 7
/f (23()_"(’//1-— ii/_é

ol \\. 3¥2

Perimeter = (1)

(1) O yd
() sq.yd

Answers 342

{1) yd
g = g i o B v
130. A metal strip is being instailed around a workbench thét is 9 fe;‘t long Bnd 3 f;i wide. Find how much stripping is

needed. o :

The amount of metal stripping needed to be installed around the workbench is (n— |

(1) O f’: l(—’f'z ('t/

O st p-2(F)+2(3)

Answers 24 / - / f / 6

(1) ft.

E

131. Find the perimeter of the top of a

The perimeter is , (1)

/ﬂ: Al—+2w "’Ej LN
pe2(n)-¢2(n) [

(1) O square inches. 2 L
(O cubic inches. / < ? L_’{' L
O inches. ,'?Z’F;/__ 9/ :
Answers 44
{1) inches.

7 R

132. A rectangular room measures 10 feet by 12 feet. Find the cost of installing a strip of wallpaper a_rfuréd the room if the

wallpaper costs $0.75 per foot. / = 2lF 2w
Totalcost=§/ | /:Z({z).,cz (/J)
Answer: 33.00 / Z 2y AL

T pgy

5af4] ] 29 PM
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133. Find the distance around the given figure. ﬂ' 11 mi ({0
= 3
4.4 mi

O
7mi C '_f' /'(71 v

s 56 7O
The distance around the figure is[‘*—] {1) /9 :A’fﬁ'—fc ‘1"0
(1) O sami I G+ T+ )Y

) mi.

Answers 36.4

(1) mi.
‘-_Ln—-"_ -
————— o
134. Find the circumference of the circle. Give the exact circumference and
then an approximation. Use &~ 3.14. ,D - 7

The exact circumference of the circle is (1)

(Simplify your answer. Type an exact answer in terms of m.) C - TT C 7 )

The approximate circumference of the circle is ] | (2)
(Type an integer or a decimal rounded to the nearest hundredth.)

(1) O square centimeters. {2) O centimeters.
) centimeters. ) meters.

O feet. C - <ﬂ D
Answers 7n C - 3 N Y D

{1) centimeters.

21,98

(2) centimeters.

6of4l 3/20/2019, 12:29 PM
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135. Find the distance around tfie regular pentagon shown to the right. 5

The distance around the figure is‘ ] {1

(1) O yd
) sqyd.

Answers 265

s 3

£5% 53 vd
5

(1) yd.
136. Find @ the given geometric figure.
6 m Rectangle
L
93m L

The area of the rectangle is | 1)
{Simplify your answer.)

(1) O sqm.
) cum.
O m.

Answers 57

(1)sqm.

N

https://xlitemprod.pearsoncmg.com/api/v 1/print/math
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137. A computer has shape of a rectangular solid Find the volume of the computer, with dimensions of 4 inches by 4 inches

by 4.9 inches.

The volume of the computer is .' R (N

(Simplify your answer. Type an integer or a decimal.)

(1 O in.
O sqin.

) cuin. V-

Answers 78.4

(t)cuin.

/=W H
(¥ J#5)

LT

7 '4
Cf

ws
51

/¢
s 79

Tof4]
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138. Convert the measurement indicated. /Z 7 ﬁ) //—6:112&
P ]

12in to feet
12in= ft "Ll_ -
Answer: 1 / 5/00“ -)L -
139. Convert the measurement as indicated. / Z y 0( ’!U /z(/#'
12 yd to feet

2ya=Ta [2(3 fed) =

Answer. 36

7__ 14

7 (1) 14
(1) O
O
O

_-HF-—‘_-_F-_-_-_-_-_‘_‘—‘—-—\_._

Vv A

141.  Use the commutative and associative properties to simplify the expression. i -
ey ets (/5’7“4) 1/ =
(15+a)+15= ' ] A dNas /5 =
Answer: a+ 30 d’(— / 5/7’/3’:

Bof4l 3/20/2019, 12:29 PM
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142.
Find the x- and y-coordinates of the point C.

The coordinates of C are
(Type an ordered pair.)

¥

AP~ .

Answer: (1,4)

Jof4l

4

]

[,
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143.
For the equation, find three ordered pair solutions by Ay
completing the table. Then use any two of the ordered pairs s
to graph the equation. 8-1
1 4
y= 2% 6
4
Complete the table below. 2'
X y 1 X
0 | LA N S R Aty dt g —T T T
-0 8 68 4 -2 2 4 6 8 10
-4 -2
4 4
Use the graphing tool to graph the equation. 6_
-8+
-1

Answers 0
-2
2

Dofdl 320:2019, 12:29 PM
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144,
Graph the equation. ZOM
=4x+6
g 16+
Use the graphing tool to graph the line. 12
8
=
] X
LIS NLE NSRS AL AL L LS RIS LA BB B (B A LU A N 5 '
-20 16 -12 B 4 ] 4 B8 12 16 20
4-
3
124
.15.:
204
Answer: ;v
20
(%)
<0) 6)
T d_‘ﬂﬁmﬂwﬁ
20 -6 -12 8 4 /1 4 B8 12 1B 20

=

4]

.12%

_15.5

-2

145, The function Vix) = X may be o

used to find the volume of a
cube with side length x. Find
the volume of a cube whose
side is 10 centimeters.

xém

Zom (/507 :/J/Y/‘))(/u)

The volume is cubic centimeters. (Type an integer or a decimal.) |, o (
. V() = (P

)

Answer: 1000 é_:@f ’/ESS/’/

l\afﬂ”Nf\_/WM—/_/:wzo 19, 12:29PM _



